ch rechne mich fitl (-

5+3=_ 8+2=__ F+2=_
F+2=_ 6+2=__ 2+8=__
6+3=_ b+3=_ S+h=_
2+4= 2+2=__ 6+3=_
6+3=_ F+3=_ b+b=_
b+b= 2+5=_ b+6=
b+6= I+1=__ 2+4=
2+hk= 6+1= 5+3=

wvvw.Lernstuebchen-gmndschu[e.b[ogspot.de

ch rechne mich fitl (=

8+1=_ F+3=_ 3+F=_
6+2=__ 3+3=__ 2+6=__
b+5=_ 8+2=_ 3+5=_
b+4= F+2=_ 5+1=
6+3=_ 2+2=__ 3+4=_
1+8= 5+2=_ b+6=_
6+1= 1+7= 2+3=

5+5= Ll'+2= /|+9:

wvvw.Lerns{u.ebchen-gru.ndschu.[e.b[ogspo{.de



3 ch rechne mich fitl (-

&+2=__ F+3=_ 9+1=_
5+1=_ 6+2=_ 2+4=
2+2=__ 5+5=_ 2+6=_
2+8=_ b+6=_ b+5=
1+3=_ 3+F=_ 2+5=_
b+2= 2+F=_ 3+5=_
6+3=_ 3+3=__ 1+9=_
b+4= 3+4= 2+3=

wvvw.Lernstuebchen-gmndschu[e.b[ogspot.de

L}' Ich rechne mich fitl (4~

S+4=_ 5+5=_ 5+2=_
8+1=_ F+2=_ 3+6=__
8+2=__ 2+4= 6+1=_
b+6=_ 2+6=_ 9+1=_
S+1=_ 2+3=__ 3+F=_
3+4= b+b= 2+F=_
2+2-= 2+0 = 3+5=

Ll'+5: 3+3= 2+1:

wvvw.Lerns{u.ebchen-gru.ndschu.[e.b[ogspo{.de



5 ch rechne mich fitl (-

3+h=_ 2+2=__ b+3=_
1+8=_ 2+F=_ 6+1=_
F+3=_ 8+2=__ 3+3=_
F+2=_ b+4= 5+2=
1+3=_ 3+5=__ 6+h=__
6+3=_ 3+7=_ 2+4=
6+2= 2+3=__ 5+50=_
S5+bk= 2+5= 2+8=

wvvw.Lernstuebchen-gmndschu[e.b[ogspot.de

6 Ich rechne mich fitl (4~

2+6=__ 6+2=_ b+bh=
F+2=_ 8+2=_ 6+hb=_
3+6=__ b+5=_ 6+1=_
1+4= 3+3=__ 8+1=__
2+2=__ 2+5=_ 3+1=_
3+5= 3+4= 3+F=_
I+1= F+1= 2+1hk=

h+5H= 2+3= 2+F=

wvvw.Lerns{u.ebchen-gru.ndschu.[e.b[ogspo{.de



7 ch rechne mich fitl (>

8+2=__ 6+3=_ 5+5=_
3+3=__ F+3=_ S+1=_
2+8=_ b+6=_ 2+3=_
6+h4= 3+7F=_ 3+5=_
5+3=_ 6+1=_ 1+8=_
3+6=_ F+2=_ 2+2=_
6+2= 2+4= b+5=_
2+5= b+3= b +4 =

wvvw.Lernstuebchen-gmndschu[e.b[ogspot.de

8 Ich rechne mich fitl (4~

3+4F=_ 9+1=__ &+1=_
&+2=_ b+2=_ 2+8=
b+3= F+3=_ 6+3=_
3+2=_ 2+2=__ 2+F=
b+5=_ 6+2=__ b+3=_
b+2= b+1=_ S+4=_
2+5= 2+1= 6+14=

b+14= 5+1= 3+3=

wvvw.Lerns{u.ebchen-gru.ndschu.[e.b[ogspo{.de



9 ch rechne mich fitl (-

3+3=__ 8+2=__ 3+F=_
5+3=_ 5+5=_ b+6=_
F+3=_ b+b= 3+5=_
2+8=_ S+h4=_ 6+hb=
3+2=__ 3+4=_ 1+93=_
3+6=_ 1+74=__ F+2=_
2+2=_ 5+2=_ 3+1=_
2+1= 6+2= h+2=

wvvw.Lernstuebchen-gmndschu[e.b[ogspot.de

/] O Ich rechne mich fitl (4~

2+2=__ 3+3=__ 6+3=_
F+2=_ 5+0=_ F+3=_
3+F=_ 5+3=_ 9+1=__
b+2= 8+2=__ 3+4b=_
1+4=_ b+5=_ 5+2=__
2+F=_ 6+2=_ F+1=_
b+4= 6+4 = 1+3=

1+1= 2+1= 2+3=

wvvw.Lerns{u.ebchen-gru.ndschu.[e.b[ogspo{.de



/l /] ch rechne mich fitl (-

5+5=_ F+2=_ 3+b=_
2+2=__ 8+2=__ 5+3=_
6+2=_ 3+6=_ 2+8=_
S+2=_ I9+1=__ b+2=
2+F=__ b+3=_ 3+5=_
F+3= b+b= b+6=_
5+1=_ 6+1=_ 3+3=_
3+2= S+h= 2+6=

wvvw.Lernstuebchen-gmndschu[e.b[ogspot.de

/I 2 Ich rechne mich fitl (4~

3+2=__ 6+4=_ 6+2=_
h+6=_ I+1=_ S5+2=_
b+2=_ b+3=_ 5+3=_
g+1=_ 8+2=_ 6+3=_
F+2=_ S+1=_ b+1=_
F+3=_ 6+1=__ 5+5=
5+hk= F+1= 2+2-=

2+6= 3+3= b+ =

wvvw.Lerns{u.ebchen-gru.ndschu.[e.b[ogspo{.de



/l 3 ch rechne mich fitl (-

b+b4= 9+1=__ F+3=
2+2=__ 6+1=__ b+5=__
3+7F=_ 2+5=__ 2+3=__
5+3=_ 1+4= F+1=
6+3=_ 2+4=_ S+bh=_
3+hk=_ F+2=_ b+6=
3+1=__ 2+6=_ 8+2=__
1+1= 5+0 = 3+3=

wvvw.Lernstuebchen-gmndschu[e.b[ogspot.de

/I L]- Ich rechne mich fitl (4~

5+2=_ 2+5=_ 6+4=_
8+1=_ 3+5=_ 6+1=_
I9+1=__ 3+1=__ 2+8=_
2+6=__ b+2= b+6=_
3+2=__ S5+0=_ b+bh=_
3+hk=_ 5+3=_ F+2=
b+5-= 3+3= 2+2-=

h+1= 6+3= 3+F=

wvvw.Lerns{u.ebchen-gru.ndschu.[e.b[ogspo{.de



/I 5 ch rechne mich fitl (4~

8+2=__ 2+8=__ 2+5=__
1+3=_ S5+1=_ 2+3=__
b+5= 5+2=_ 2+4=
F+1=_ 1+6=_ F+2=
3+5=__ 6+3=_ 5+0=_
6+4=_ F+3=_ 1+2=
8+1=_ b+3= 3+3=_
6+2-= b+4 = 2+2-=

wvvw.Lernstuebchen-gmndschu[e.b[ogspot.de

/I 6 Ich rechne mich fitl (4~

2+8=_ 9+1=__ 8+2=__
b+3=_ 1+6=_ 5+4=
b+5= 2+F=_ 2+1=_
3+hk=_ b+6=_ 6+3=_
6+1=_ F+3=_ 3+3=__
6+2=_ 5+3=_ b+2=
5+9= 2+2= F+1=

3+2= b +4 = 2+5-=

wvvw.Lerns{u.ebchen-gru.ndschu.[e.b[ogspo{.de



